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Q.1

Q.2

Q3

Q.4

All questions are compulsory.

Figures to the right indicate full marks.

Attempt any TWO. : [15]
a) Define economic system and explain its characteristics.
b) Discuss Heilborner’s classification of economic system.

¢) What is mixed economy and explain its merits?

Attempt any TWO. [15]
a) Explain the freedoms under mixed economy.
b) Discuss the need for incentives in economic system.

c) Explain the efficiency under capitalism.

Attempt any TWO. [15]
a) What are the features of capitalism ?
b) Explain marxian Theory of Rate of Profit.

c) Discuss marxian views on crisis and breakdown of capitalism.

A)State whether the following statements are TRUE or FALSE with

reasons. [Any FOUR] [8]
1) Historical factors influence evolution of economic system.
2) Determination of production is an important function of economic

system.

3) There are positive and negative incentives in economic system.
4) Consumer’s freedom is an important freedom under capitalism.
5) Economic security is an important feature of welfare state.
6) Welfare state brings about positive change in the conditions of

weaker sections of society.

B) Choose the correct answer and rewrite the statement (any SEVEN) [7]
1) Which factor has led to the evolution of economic system, —

a) Environment “b) Demand c) Supply



capitalism, soclalism and mixed economy.

a) contents b) ownership of means of production

c) None of the above.

= is oi'ginal socialism.

a) Pure socialism b) marxian sociaiism c) None of the above
Ll e a e is a freedom under capitalism.

a) freedom of production b) freedom of saving c) All of above
Bl i ot is an economic incentive.

a) Profit b) High salaries c) all of the above

X 6) Which of the following system has.no places for profit & private property.

a) socialism b) capitalism c) None of the above
rs D EMEIEEK e is a feature of welfare state.
a) State Regulation b) Social inequality c¢) none of the above

8) Welfare state is needed to
a) control monopoly b) economic instability c) none of the above
9) Which is a demerit of capitalism ?

a) Wasteful b) Exploitation c) All of the above competition
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